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1. How much voltage is there across the second approximation of a silicon diode when it is
forward biased?
a. 0 b. 0.3V c. 0.7V d 1V

2. How much current is there through the second approximation of a silicon diode when it is
reverse biased?
a. 0 b. 1A c. 300 mA d 01V

3. How much forward diode voltage is there with the ideal diode approximation?
a. 0 b. 0.7V c. Morethan0.7V d. 1V

For Figure 1, answer questions 4-8:

Figure 1

4. How much load current is there with the ideal diode?

a. 0 b. 11.3mA c. 12mA d. 25mA
5. How much load current is there with the second approximation?
a. 0 b. 11.3mA c. 12mA d. 25mA
6. How much load current is there with the third approximation?
a. 0 b. Between 11.3mA c. Lessthan11.3 d. More than 12 mA
and 12 mA mA
7. If the diode is open, the load voltage is
a. 0 b. 113V c. 12V d 07V

8. This circuit is called
a. Clamper b. Full-wave rectifier c. Bridge rectifier d. Limiter
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For Figure 2, answer questions 9—17
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Figure 2

9. The output frequency is:

a. 30Hz b. 60 Hz c. 120 Hz d. OHz
10. Assume ideal diodes, the peak output voltage is:

a. 34.28V b. 17.14V c. 60V d. 857V
11. Assume ideal diodes, the DC output voltage is:

a. 546V b. 10.92V c. 857V d 273V

12. Assume the diode second approximation, the peak output voltage is:
a. 7.87V b. 546V c. 857V d 717V

13. Assume the diode second approximation, the DC output voltage is:
a. 0.7V b. 25V c. 50V d. 100V

14. Assume the diode second approximation, the load current is:
a. 0.76 mA b. 3.03mA c. 1.52mA d. 0.21mA

15. The PIV across the diode is
a. 34.28V b. 17.14V c. 717V d 857V

16. If a capacitance-input filter is inserted parallel to the load resistance, the PIV across the diode is:
a. 34.28V b. 17.14V c. 1574V d. 857V

17. Assume the diode second approximation. If a capacitance-input filter is inserted parallel to the load

resistance with C=100 pF, the ripple voltage is:
a. 12.6 mV b. 25.3mV c. 253.2mV d. 126 mV
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For Figure 3, answer questions 18—26
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Figure 3
The output frequency is
a. 30Hz b. 60 Hz c. 120Hz d. OHz

Assume ideal diodes, the peak output voltage is:
a. 3428V b. 17.14V c. 60V d. 857V

Assume ideal diodes, the DC output voltage is:
a. 546V b. 857V c. 1714V d. 1092V

Assume the diode second approximation, the peak output voltage is:
a. 1574V b. 17.14V c. 3288V d. 16.44V

Assume the diode second approximation, the DC output voltage is:
a. 0.7V b. 25V c. 50V d. 100V

Assume the diode second approximation, the load current is:
a. 0.76 mA b. 3.03mA c. 1.52mA d. 0.21mA

The PIV across the diode is
a. 34.28V b. 15.74V c. 17.14V d. 1644V

If a capacitance-input filter is inserted parallel to the load resistance, the PIV across the diode is:
a. 34.28V b. 15.74V c. 1714V d. 16.44V

Assume the diode second approximation. If a capacitance-input filter is inserted parallel to the load

resistance with C=100 pF, the ripple voltage is:
a. 12.6 mV b. 25.3mV c. 253.2mV d. 126 mV
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27. The voltage across the diode in Figure is
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29. Choose the option for the output voltage
Vo waveform in this Figure.
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31. Choose the option for the output voltage
Vo waveform in this Figure.
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28. The voltage across the diode in Figure is
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30. Choose the option for the waveform of

output voltage Vo in this Figure.
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32. In the circuit of Figure, D1 and D2 are
ideal diodes. The current i1 and i are

Fig. P3.1.12
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